
 

(DBC 33) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part – II : COMMERCE 

 Paper - III : Cost and Management Accounting 

Time : 3 Hours  Maximum Marks : 80 

SECTION - A 

                               Answer any Four of the following (4 × 4 = 16) 

1) What are the advantages of cost accounting? 

M>‹Üt AMú…sìý…VŠü ÐèþË¯èþ MæüÍVóü {ç³Äñý*f¯éË$ HÑ$sìý? 

2) Bin card – stores ledger. 

 ¼¯Œþ M>ÆŠÿz & ÝùtÆŠÿÞ BÐèþÆ>j. 

3)  Difference between time – keeping and time booking.  

 OsñýÐŒþ$  Mîüí³…VŠü Ðèþ$ÇÄæý$$ OsñýÐŒþ$ º$Mìü…VŠüË Ðèþ$«§æþÅ ÐèþÅ™éÅçÜÐèþ$$.   

4)  What is work certified and work uncertified?  

 «§æþ–ÒMæüÇ…_¯èþç³° Ðèþ$ÇÄæý$$ «§æþ–ÒMæüÇ…^èþ° ç³° A¯èþV>¯óþÑ$? 

5)  Operating ratio. 

°ÆæÿÓçßý×ý °çÙµ†¢. 

6)  What is financial statement? How many financial statements are there?  

 BÇ¦Mæü °Ðóþ¨Mæü A…sôý HÑ$sìý? D BÇ¦Mæü °Ðóþ¨MæüË$ G°²ÆæÿM>Ë$? 

7)  Discuss the advantages of ratio analysis. 

 °çÙµ™èþ$¢Ë ÑÔóýÏçÙ×ý Äñý$$MæüP {ç³Äñý*f¯éË¯èþ$ è̂þÇa… è̂þ…yìþ. 

8)  Elements of costs. 

 ÐèþÅÄæý$M>ÆæÿM>Ë$. 
SECTION – B 

                          Answer any Two of the following  (2 × 8 = 16) 

9)  The following cost details are extracted from the records of Mohini Co. Ltd., for the month of March 

2014. You are required to prepare cost sheet and ascertain cost per unit.  



 

 Factory rent and rates Rs. 4,500, other rent Rs. 750, general expenses Rs. 600, administrative 

expenses Rs. 900, income tax paid Rs. 3,000, depreciation on plant Rs. 2,250, loss on sale of plant 

Rs. 450, manufacturing expenses Rs. 10,500, raw materials purchased Rs. 42,000, stock of raw 

materials (1 – 3 – 2014) Rs.4,500. stock of raw materials (31 – 3 – 2014) Rs. 6,750. No. of units 

produced during the month 3,000. The stock of finished goods was 200 and 400 units on 1 – 3 – 2014 

and 31 – 3 – 2014 respectively. The total cost of units on hand on 1-3-2014 was Rs. 4,200. All these 

units have been sold. 

 Ððþ*íßý± Mæü…ò³± ÍÑ$sñýyŠþ ÐéÇ ç³#çÜ¢M>Ë ¯èþ$…yìþ õÜMæüÇ…^èþºyìþ¯èþ ÐèþÅÄæý$ ÑÐèþÆ>Ë$ Ðèþ*Ça 2014 ¯ðþËMæü$ çÜ…º…¨…_ {Mìü…¨ Ñ«§æþ…V> 

E¯é²Æÿ$$. ÐèþÅÄæý$°Ðóþ¨Mæü¯èþ$ ™èþÄæý*Ææÿ$^óþíÜ, Äæý$*°sŒý E™èþµ†¢ ÐèþÅÄæý*°² ÌñýMìüP…^èþ…yìþ. 

¸ëÅMæütÈ A§ðþª, Æóÿr$Ï Ææÿ*. 4, 500; C™èþÆæÿ A§ðþª Ææÿ*. 750; Ýë«§éÆæÿ×ý QÆæÿ$aË$ Ææÿ* 600; ç³Ç´ëË¯éQÆæÿ$aË$      Ææÿ*. 900; 

B§éÄæý$ç³# ç³¯èþ$² ^ðþÍÏ…ç³# Ææÿ*. 3,000; ´ëÏ…sŒý Oò³ ™èþÆæÿ$Væü$§æþË Ææÿ* 2,250; ´ëÏ…sŒý AÐèþ$ÃMæü… òOò³ ¯èþçÙtÐèþ$$ Ææÿ*. 450; E™èþµ†¢ 

QÆæÿ$aË$ Ææÿ*. 10,500; ¯ðþËÌZ Ðèþ$$yìþ çÜÆæÿ$Mæü$Ë Mö¯èþ$VøË$ Ææÿ*. 42,000. 

Ðèþ$$yìþ çÜÆæÿ$Mæü$ °ËÓ (1 & 3 & 2014) Ææÿ*. 4,500 

Ðèþ$$yìþ çÜÆæÿ$Mæü$ °ËÓ (31 & 3 & 2014) Ææÿ*. 6,750 

ð̄þËM>Ë…ÌZ E™èþµ†¢ ^óþíÜ¯èþ Äæý$*°r$Ï  3,000. 

™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ °ËÓË$ Ðèþ*Ça 1 Ðèþ$ÇÄæý$$ Ðèþ*Ça 31 ¯èþ ÐèþÆæÿ$çÜV> 200 Äæý$*°r$Ï Ðèþ$ÇÄæý$$ 400 Äæý$*°r$ÏV> E¯é²Æÿ$$. 

2014 Ðèþ*Ça 1 ¯èþ ™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ Äñý$$MæüP ÑË$Ðèþ Ææÿ*. 4,200. D °ËÓË$ ç³NÇ¢V> AÐèþ$$Ãyæþ$ ´ùÆÿ$$ è̄þÑ. 

10)   What are the essential characteristics of a good costing system? 

 Ðèþ$…_ M>íÜt…VŠü ÐèþÅÐèþçÜ¦Mæü$ E…yæþÐèþËíÜ¯èþ Ðèþ$$QÅ Ë„æü×êË$ HÑ$sìý? 

11)  The following details are extracted from the records of two companies carrying on similar business 

for the year ending 31 – 3 – 2014. 

     Moon Co. Ltd. Sun Co. Ltd.  

     in Rs in Rs 

 Gross sales 1,22,400 1,47,000 

 Cost of goods sold 72,800 81,000 

 Sales returns 2,400 3,000 

 Office expenses  15,000 13,600 

 Selling expenses 24,000 25,000 

 Interest on investments 2,000 3,600 

 Depreciation  3,000 5,000 

 Loss on sale of machinery 2,000 1,300 

 Tax liability 50% 40% 

 You are required to prepare common size income statement of the above two companies.  



 

 31 Ðèþ*Ça, 2014 ¯ésìýMìü JMóü ÆæÿMæüOÐðþ$¯èþ ÐéÅ´ëÆæÿÐèþ$$ ó̂þçÜ$¢̄ èþ² Æðÿ…yæþ$ Mæü…ò³±Ë ç³#çÜ¢M>Ë ¯èþ$…yìþ õÜMæüÇ… è̂þºyìþ¯èþ ÑÐèþÆ>Ë$ {Mìü…¨ 

Ñ«§æþ…V> E¯é²Æÿ$$. 

     Ðèþ$*¯Œþ Mæü…ò³± Í. çÜ¯Œþ Mæü…ò³± Í.  
     Ææÿ*|| ËÌZ  Ææÿ*||ËÌZ 

 çÜ*¦Ë AÐèþ$ÃM>Ë$ 1,22,400 1,47,000 

 AÐèþ$ÃMæüç³# ÐèþÅÄæý$Ðèþ$$ 72,800 81,000 

 AÐèþ$ÃMæüç³# Ðéç³çÜ$Ë$ 2,400 3,000 

 BïœçÜ$ QÆæÿ$aË$ 15,000 13,600 

 AÐèþ$ÃMæüç³# QÆæÿ$aË$ 24,000 25,000 

 ò³r$tºyæþ$Ë òOò³ Ðèþyîþz 2,000 3,600 

 ™èþÆæÿ$Væü$§æþË  3,000 5,000 

 Äæý$…{™èþÐèþ$$ AÐèþ$ÃMæüÐèþ$$òOò³ ¯èþçÙtÐèþ$$ 2,000 1,300 

 ç³¯èþ$² »ê§æþÅ™èþ 50% 40% 

 òOò³ A…Ô>Ë è̄þ$ B«§éÆæÿ…V> ^óþçÜ$Mö° Æðÿ…yæþ$ Mæü…ò³±Ë HMîüMæü–™èþ B§éÄæý$ °Ðóþ¨Mæü ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 
 

12)  From the following cost details, Calculate the total earnings of each worker per hour under Halsey 

plan and Rowan plan of incentive schemes. 

 Worker‟s Name  Kamala Vimala Jalaja 

 Time allowed (in Hours) 3 6 8 

 Actual time taken (Hours) 5 5 3 

 Basic wage per hour (in Rs.) 2 2 2 

 {Mìü…¨ ÐèþÅÄæý$ ÑÐèþÆ>Ë è̄þ$…yìþ {ç³† M>ÇÃMæü$° Äñý$$MæüP Ððþ$$™èþ¢Ðèþ$$ B§éÄæý*°² Væü…rMæü$ Æóÿr$¯èþ$ çßZÌôýÞ ç³£æþMæüÐèþ$$ Ðèþ$ÇÄæý$$ ÆöÐé Œ̄þ 

{´ù™éÞçßýMæü ç³«§æþM>Ë ¯èþ¯èþ$çÜÇ…_ ÌñýMìüP… è̂þ…yìþ. 

 M>ÇÃMæü$Ë õ³Ææÿ$Ï    MæüÐèþ$Ë ÑÐèþ$Ë fËf  

 MóüsêÆÿ$$…_¯èþ M>ËÐèþ$$ (Væü…rËÌZ) 3 6 8 

 ÐéçÜ¢Ðèþ ç³° M>ËÐèþ$$ (Væü…rËÌZ) 5 5 3 

 Væü…rMæü$ Ðèþ$*ËÐóþ™èþ¯èþÐèþ$$ (Ææÿ*||ËÌZ) 2 2 2 

 



 

SECTION – C 

                             Answer any Three of the following (3 × 16 = 48) 

13)    Kundan Construction Co. Ltd., Commenced a contract of Rs. 12 lakhs on 1
st
 January 2013. 

 The cost details as on 31
st
 December 2013 was given below : 

 Plant purchased Rs. 60,000; General charges Rs. 32,000;  Wages paid Rs. 3,40,000; Direct expenses 

Rs. 8,000; Materials sent to site Rs. 3,36,000; Outstanding wages Rs. 2,800; Materials at site (31 – 12 

– 2013) Rs. 4,000; Outstanding direct expenses Rs. 1,200; Work uncertified Rs. 14,000; 

 Cash received Rs. 6,00,000 being 80% of work certified. The life of plant being 5 years and Scrap 

value is nil. Prepare contract account and show the balance sheet.  
  

 f¯èþÐèþÇ 1, 2013 ¯éyæþ$ Mæü$…§æþ¯Œþ ¿æýÐèþ¯èþ °Æ>Ã×ý Mæü…ò³± ÍÑ$sñýyŠþ Ææÿ*. 12 Ë„æüË ÑË$ÐèþVæüË JMæü M>…{sêMæü$t̄ èþ$ {´ëÆæÿ…À…_…¨. 
31 yìþòÜ…ºÆæÿ$ 2013 ¯ésìýMìü ÐèþÅÄæý$ÑÐèþÆ>Ë$ {Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ$$. 

 ́ ëÏ…r$ Mö¯èþ$VøË$ Ææÿ*. 60,000; Ýë«§éÆæÿ×ý QÆæÿ$aË$ Ææÿ*. 32,000; Ðóþ™èþ¯éË ^ðþÍÏ…ç³# Ææÿ*. 3,40,000; {ç³™èþÅ„æüQÆæÿ$aË$ 

Ææÿ* 8,000; çÜ¦ËÐèþ$$¯èþMæü$ ç³…í³¯èþ Ððþ$sîýÇÄæý$ÌŒýÞ Ææÿ*. 3,36,000; ^ðþÍÏ…^èþÐèþËíÜ¯èþ Ðóþ™èþ¯éË$ Ææÿ*. 2,800; 31&12&2013 

¯ésìýMìü Ððþ$sîýÇÄæý$ÌŒýÞ °ËÓ Ææÿ* 4,000; ^ðþÍÏ…^èþÐèþËíÜ¯èþ {ç³™èþÅ„æü QÆæÿ$aË$ Ææÿ*. 1,200; BÐðþ*¨…_¯èþ ç³° Ææÿ*. 14,000. 

 ¯èþVæü§æþ$ ÐèþçÜ*âæý$å Ææÿ* 6,00,000 (C¨ BÐðþ*¨…_¯èþ ç³°ÌZ 80%) 

 ´ëÏ…r$ iÑ™èþM>ËÐèþ$$ 5 çÜ…Ðèþ™èþÞÆæÿÐèþ$$Ë$. ©° ™èþ$Mæü$P ÑË$Ðèþ HÑ$ Ìôý§æþ$. 

 {M>…{sêMæü$t Rê™é è̄þ$ ™èþÄæý*Ææÿ$ ^óþíÜ, BíÜ¢ Aç³šË ç³sîýt ^èþ*ç³…yìþ. 

14)     In Karunya Electronics Co. Ltd., there are 3 production departments and 2 service departments. The 

total expenses as per the records reveals that -  Rent. Rs. 10,000; Lighting Rs. 600; Indirect wages Rs. 

3,000; Power Rs. 3,000; Machine depreciation Rs. 10,000; Other expenses Rs 10,000.  

 Additional Information : 

  Details   P1 P2 P3 S1 S2 

 Floor area (sq. mts) 1,000 1,250 1,500 1,000 250 

 Light points (No.) 10 15 20 10 5 

 Direct Wages (Rs.) 3,000 2,000 3,000 1,500 500 

 HP of machines  60 30 50 10 - 

 Cost of machines (Rs.) 24,000 32,000 40,000 2,000 2,000 

 Working Hours  2,335 1,510 1,525 - - 

 The expenses of service departments are to be allocated as follows : 

     P1 P2 P3 S1 S2 

  S1  20% 30% 40% - 10% 

  S2  40% 20% 30% 10% - 

 Calculate the over head recovery rate per hour in respect of production departments. 



 

 M>Ææÿ$×ýÅ GË[M>t°MŠüÞ Mæü…ò³±ÌZ 3 E™èþµ†¢ Ñ¿êV>Ë$ Ðèþ$ÇÄæý$$ 2 õÜÐé Ñ¿êV>Ë$ E¯é²Æÿ$$. õÜMæüÇ…_¯èþ ÇM>Ææÿ$zË {ç³M>ÆæÿÐèþ$$ 

QÆæÿ$aË Ððþ$$™é¢Ë$ {Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ$$. A§ðþª Ææÿ*. 10,000; ÐðþË$™èþ$Ææÿ$ Ææÿ*. 600; ç³Æø„æü Ðóþ™èþ¯éË$ Ææÿ*. 3,000; 

C…«§æþ¯èþÐèþ$$ Ææÿ*. 3,000; Äæý$…{™èþÐèþ$$ òOò³ ™èþÆæÿ$Væü$§æþË Ææÿ*. 10,000; C™èþÆæÿQÆæÿ$aË$    Ææÿ*. 10,000. 

 A§æþ¯èþç³# çÜÐèþ*^éÆæÿÐèþ$$ : 

  ÑÐèþÆæÿÐèþ$$Ë$   P1 P2 P3 S1 S2 

 B{MæüÑ$…_ è̄þ çÜ¦ËÐèþ$$ ( è̂þ. Ò$rÆæÿ$Ï) 1,000 1,250 1,500 1,000 250 

 OÌñýsŒý ´ëÆÿ$$…r$Ï  ( çÜ…QÅ) 10 15 20 10 5 

 {ç³™èþÅ„æü Ðóþ™èþ¯éË$ (Ææÿ*.ËÌZ) 3,000 2,000 3,000 1,500 500 

 HP Äæý$…{™éË$  60 30 50 10 - 

 Äæý$…{™éË Mö è̄þ²«§æþÆæÿ (Ææÿ*.ËÌZ) 24,000 32,000 40,000 2,000 2,000 

 ç³° Væü…rË$   2,335 1,510 1,525 - - 

 õÜÐé Ñ¿êVæüç³# QÆæÿ$aË$ {Mìü…¨ Ô>™èþÐèþ$$Ë B«§éÆæÿ…V> Ñ¿æýf è̄þ ^óþÄæý*Í : 

     P1 P2 P3 S1 S2 

   S1  20% 30% 40% - 10% 

   S2  40% 20% 30% 10% - 

 Oò³ A…Ô>Ë è̄þ$ B«§éÆæÿ…V> ó̂þçÜ$Mö° Væü…rMæü$ ç³Æø„æü QÆæÿ$aË ÇMæüÐèþÈ Æóÿr$ è̄þ$ E™èþµ†¢ Ñ¿êV>ËMæü$ ÌñýMìüP…^èþ…yìþ. 

15)  The particulars in profit and loss account of Abhi Co. Ltd, for the year 31
st
 March 2014 was as follows 

: 

 Sales  Rs. 6,50,000 

 Closing stock Rs. 1,00,000 

 Opening stock Rs. 75,000 

 Purchases Rs. 4,25,000 

 Wages Rs. 25,000 

 Carriage Rs. 10,000 

 Interest on government securities  Rs. 6,000 

 Profit on sale of Plant Rs. 4,000 

 Office expenses Rs. 1,00,000 

 Selling expenses Rs. 10,000 

 Interest on debentures  Rs. 5,000 

 Interest on bank overdraft Rs. 2, 500 

 Depreciation  Rs. 7,500 

 Provision for taxation Rs. 50,000 



 

 You are required to calculate : 

a) Gross profit ratio 

b) Net profit ratio 

c) Operating profit ratio 

d) Operating ratio 

e) Stock turnover ratio 

Ðèþ*Ça 31, 2013 ™ø A…™èþÐèþ$Äôý$Å çÜ…Ðèþ™èþÞÆ>°Mìü AÀ Mæü…ò³± ÍÑ$sñýyŠþ ÐéÇ ç³#çÜ¢M>Ë ¯èþ$…yìþ õÜMæüÇ…_¯èþ ÑÐèþÆ>Ë$ {Mìü…¨ 

Ñ«§æþ…V> E¯é²Æÿ$$. 

AÐèþ$ÃM>Ë$ Ææÿ*. 6,50,000 

´ëÆæÿ…¿æýç³# çÜÆæÿ$Mæü$ Ææÿ*. 75,000 

Mö¯èþ$Vøâæý$å Ææÿ*. 4,25,000 

Ðèþ$$W…ç³# çÜÆæÿ$Mæü$ Ææÿ*. 1,00,000 

Ðóþ™èþ¯éË$ Ææÿ*. 25,000 

ÆæÿÐé×ê Ææÿ*. 10,000 

{ç³¿æý$™èþÓ òÜMæü*ÅÇsîýË è̄þ$…yìþ Ðèþyîþz Ææÿ*. 6,000 

´ëÏ…r$ AÐèþ$ÃMæüÐèþ$$ Oò³ Ìê¿æýÐèþ$$ Ææÿ*.  4,000 

BïœçÜ$ QÆæÿ$aË$ Ææÿ*. 1,00,000 

AÐèþ$ÃMæüç³# QÆæÿ$aË$ Ææÿ*. 10,000 

yìþ»ñý…^èþÆæÿÏòOò³ Ðèþyîþz Ææÿ* 5,000 

»êÅ…Mæü$ KÐèþÆŠÿ {yé‹œtòOò³ Ðèþyîþz Ææÿ*. 2,500 

™èþÆæÿ$Væü$§æþË Ææÿ*. 7,500 

 ç³¯èþ$²MøçÜ… HÆ>µr$ Ææÿ*. 50,000 

 òOò³ A…Ô>Ë è̄þ$ B«§éÆæÿ…V> ^óþçÜ$Mö° : 

a) çÜ*¦Ë Ìê¿æý °çÙµ†¢ 

b) °MæüÆæÿ Ìê¿æý °çÙµ†¢ 

c) °ÆæÿÓçßý×  Ìê¿æý ý°çÙµ†¢ 

d) °ÆæÿÓçßý×  °çÙµ†¢ 

e) çÜÆæÿ$Mæü$ rÆø²ÐèþÆŠÿ °çÙµ†¢ Mæü¯èþ$MøP…yìþ. 

 

 



 

16) Prepare a comparative Balance sheet and Comment. 

 Liabilities 2012 2013 Assets 2012 2013 

  Rs. Rs.  Rs. Rs. 

 Equity share capital 1,00,000 1,00,000 Buildings  1,00,000 98,000 

 Reserve 24,000 22,000 Land 1,08,000 1,00,000 

 Mortgage loan  1,10,000 1,00,000 Stock 30,000 60,000 

 Creditors 30,000 90,000 Debtors 40,000 80,000 

 Bills payable 50,000 40,000 Bank 30,000 2,000 

 Provision for taxation 44,000 28,000 Bills receivable 50,000 40,000 

 Profit & Loss A/c 10,000 10,000 Good will 10,000 10,000 

  3,68,000 3,90,000  3,68,000 3,90,000 

 ™èþ$Ë¯é™èþÃMæü BíÜ¢ Aç³šË ç³sîýt ™èþÄæý*Ææÿ$^óþíÜ, ÑÐèþÆæÿ×ý CÐèþÓ…yìþ. 

 Aç³šË$ 2012 2013 BçÜ$¢Ë$ 2012 2013 

  Ææÿ*|| Ë$ Ææÿ*|| Ë$  Ææÿ*|| Ë$ Ææÿ*|| Ë$ 
 DMîüÓsîý Ðésê Ðèþ$*Ë«§æþ¯èþÐèþ$$ 1,00,000 1,00,000 ¿æýÐèþ¯éË$  1,00,000 98,000 

 ÇfÆæÿ$Ó 24,000 22,000 ¿æý*Ñ$ 1,08,000 1,00,000 

 ™èþ¯èþRê Aç³š  1,10,000 1,00,000 çÜÆæÿ$Mæü$ 30,000 60,000 

 º$$×ý§é™èþË$ 30,000 90,000 º$$×ý{VæüçÜ$¢Ë$ 40,000 80,000 

 ^ðþÍÏ…ç³# ¼Ë$ÏË$ 50,000 40,000 »êÅ…Mæü$ 30,000 2,000 

 ç³¯èþ$² MøçÜ… HÆ>µr$ 44,000 28,000 ÐèþçÜ*Ë$ ¼Ë$ÏË$ 50,000 40,000 

 Ìê¿æý è̄þÚëtË Rê™é 10,000 10,000 Væü$yŠþ ÑÌŒý 10,000 10,000 

  3,68,000 3,90,000  3,68,000 3,90,000 

 
 

17) The following figures have been taken from the books of a firm.  

 Raw materials – Opening stock Rs. 40,000 

 Raw materials – Closing stock Rs. 30,000 

 Finished goods – Opening stock Rs. 10,000 

 Finished goods – Closing stock Rs. 15,000 

 Purchase of Raw materials  Rs. 1,50,000  

 Direct wages  Rs. 1,20,000 

 Factory expenses  Rs. 1,20,000 

 Office expenses  Rs. 50,000 

 Sales    Rs. 4,89,500 

 What should be the quotation of a job requiring Rs. 2,000 for material and Rs. 3,000 for direct wages. 



 

 ¨Væü$Ðèþ A…MðüË$, JMæü çÜ…çÜ¦ ç³#çÜ¢M>Ë ¯èþ$…yìþ ¡çÜ$Mö¯èþºyìþ¯èþÑ. 

         Ææÿ*|| Ë$ 

 Ðèþ$$yìþçÜÆæÿ$Mæü$ & {´ëÆæÿ…¿æýç³# °ËÓ 40,000 

 Ðèþ$$yìþçÜÆæÿ$Mæü$ & Ðèþ$$W…ç³# °ËÓ 30,000 

 ™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ & {´ëÆæÿ…¿æýç³# °ËÓ 10,000 

 ™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ & Ðèþ$$W…ç³# °ËÓ 15,000 

 Ðèþ$$yìþ çÜÆæÿ$Mæü$ Mö è̄þ$VøË$  1,50,000 

 {ç³™èþÅ„æü Ðóþ™èþ¯éË$  1,20,000 

 ¸ëÅMæütÈ QÆæÿ$aË$  1,20,000 

 BïœçÜ$ QÆæÿ$aË$  50,000 

 AÐèþ$ÃM>Ë$   4,89,500 

 Ææÿ* 2,000 Ððþ$sîýÇÄæý$ÌŒý Ðèþ$ÇÄæý$$ Ææÿ*. 3,000 {ç³™èþÅ„æüÐóþ™èþ¯éË$ AÐèþçÜÆæÿÐèþ$Äôý$Å JMæü gê»ŒýMæü$ MösôýçÙ¯Œþ «§æþÆæÿ¯èþ$ °Ææÿ~Æÿ$$… è̂þ…yìþ. 

18) The following direct costs were incurred on job No. 415 of T.V. company. 

Materials  Rs. 4,020 

Wages : 

Department A 60 hours @ Rs. 3 per hour 

Department B 40 hours @ Rs. 2 Per hour 

Department C 20 hours @ Rs. 5 Per hour 

Variable overheads : 

Department A Rs. 5,000 for 5,000 direct labour hours. 

Department B Rs. 3,000 for 1,500 direct labour hours. 

Department C Rs. 2,000 for 500 direct labour hours 

Fixed over heads : Estimated at Rs. 20,000 for 10,000 normal working hours. 

Calculate the cost of the job and calculate price to give a profit of 25% on selling price.  

 gê»Œý ¯ðþ…ºÆæÿ$ 415 Mìü çÜ…º…«̈ …_ sîý.Ñ.Mæü…ò³± ÐéÆæÿ$ ¨Væü$Ðèþ {ç³™èþÅ„æü QÆæÿ$aË è̄þ$ ^ðþÍÏ…^éÆæÿ$. 

 Ððþ$sîýÇÄæý$ÌŒýÞ     Ææÿ*. 4,020 

 Ðóþ™èþ¯éË$ :   

 A Ñ¿êVæüÐèþ$$ 60 Væü…rË$ Væü…rMæü$ Ææÿ*. 3 ^öç³š¯èþ 

 B Ñ¿êVæüÐèþ$$ 40 Væü…rË$ Væü…rMæü$ Ææÿ*. 2 ^öç³š¯èþ 

 C Ñ¿êVæüÐèþ$$ 20 Væü…rË$ Væü…rMæü$  Ææÿ*. 5 ^öç³š¯èþ 



 

 ^èþÆæÿKÐèþÆŠÿ òßýyŠþÞ : 

 A Ñ¿êVæüÐèþ$$ Ææÿ*. 5,000 & 5,000 ç³° Væü…rËMæü$ 

 B Ñ¿êVæüÐèþ$$ Ææÿ*. 3,000 & 1,500 ç³° Væü…rËMæü$ 

 C Ñ¿êVæüÐèþ$$ Ææÿ*. 2,000 & 500 ç³° Væü…rËMæü$ 

 íÜ¦Ææÿ KÐèþÆŠÿ òßýyŠþ : 10,000 ç³° Væü…rËMæü$ Ææÿ*. 20,000 Ë$V> A… è̂þ¯é ÐóþÄæý$ºyézÆÿ$$. gê»Œý M>‹Üt̄ èþ$ Mæü¯èþ$Vö°, AÐèþ$ÃMæü… «§æþÆæÿòOò³ 

25% Ìê¿æýÐèþ$$ Ðèþ^óþa Ñ«§æþ…V> gê»Œý «§æþÆæÿ¯èþ$ °Ææÿ~Æÿ$$…^èþ…yìþ. 

 

 

 

 


